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现代语言学试题
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L. Directions: Read each of the following statements carefully. Decide which one
of the four choices best completes the statement and put the letter A, B, C or D in
the brackets. (2% x10=20%)

1. Modern linguistics is the scientific study of language, therefore modern linguists emphasize the
importance of language data collected from
A. newspapers and magazines
B. the language people actually speak
C. writings by the most famous authors

D. radio broadcasts . | [ ]
2. To form the present tense, 3rd person singular, of the verb “teach”, we have to add “-es”, instead

of just “-s” to it. This is required by the of English.

A. assimilation rule B. sequential rule

C. deletion rule D. morphological rule [ ]

3. Case Condition, Adjacency Condition and parameters are important components in the
well-known theory of

A. traditional grammar B. functional grammar
C. universal grammar D. phrase structure grammar [ ]
4. The level of syntactic representation that exists after movement takes place is commonly termed
as the .
A. phrase structure B. deep structure

C. surface structure D. syntactic structure [ ]




[image: image2.png]5. is an approach adopted by structural semanticists in describing the meaning of

words.
A. Predication analysis B. Componential analysis
C. Semantics D. Pragmatics [ ]
6. The Cooperative Principle was first proposed by
A. John Austin B. John Searle
C. Geoffrey Leech D. Paul Grice [ ]

7. Languages in the world can be classified into families, such as the Indo-European family, the
Sino-Tibetan family, the Afroasiatic family, the Austronesian family, the Austro-Tai Family,

and the Altaic family. Among them is the first and most widely investigated

language family of the world.

A. Sino-Tibetan B. Afroasiatic

C. Austronesian D. Indo-European [ ]
8. A person who spends a long time going through college or university tends to speak with

language features which derive from one’s constant use of the language.

A. written B. spoken

C. literal D. colloquial [ ]
9. is the language center within the brain responsible for converting a visual stimulus

into an auditory form and vice versa.

A. The angular gyrus B. Broca’s area

C. Wernicke’s area D. Cerebral cortex [ ]

10. The acquisition of a second language is dependent on a combination of learner factors. Which
of the following is NOT an individual learner factor?
A. aptitude B. motivation
C. instruction D. cognitive style [ ]

II. Directions: Fill in the blank in each of the following statements with one word,
the first letter of which is already given as a clue. Note that you are to fill in ONE

word only, and you are not allowed to change the letter given. ( 1%x10=10%)

11. Language is not an i phenomenon, it is a social activity carried out in a certain

social environment by human beings.
12. While phonetics is interested in all the speech sounds used in all human languages, phonology

is interested in the system of sounds of a p language.

13. A canbedivided into two kinds: prefixes and suffixes according to their positions

1n the words.
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Af verb, informally called the main verb of a sentence, expresses existence,

action or occurrence which is limited by person, number, case.

What we can depend on to make a distinction between polysemy and homonymy is the

e of the words in question.
The act performed when an utterance achieves a particular effect on the behaviour, beliefs,

feelings, etc., of a listener is called p act.

In old English the affixation of the suffix -yan to an adjective would change the word into a

c verb, just as the Modern English suffix -en added to adjectives to form such

verbs as blacken, whiten, redden and awaken.

A pidgin is generally used by native speakers of other languages as a medium of
communication. As a ¢ language, a pidgin may contain significant grammatical
features of two or more languages.

I communication refers to the process of using language within an individual to

facilitate one’s own thought and speech behavior.

Starting from the prelinguistic cooing and b stage, children move through the

one-word, two-word and multiword stages, gradually acquiring the adult linguistic system as

they grow.

III. Directions: Judge whether each of the following statements is true or false. Put a T

21.

for true or F for false in the brackets in front of each statement. If you think a
statement is false, you must explain why you think so and give the correct version.
(2% x10=20%)

( ) The distinction between langue and parole was proposed by the Swiss linguist F. de
Saussure. Langue refers to the abstract linguistic system shared by all the members
of a speech community while parole refers to the concrete use of conventions and
rules, thus varying from person to person.




[image: image4.png]22. ( ) The conclusions we reach about the phonology of a particular language can be
generalized into the study of another language.

23. ( ) The word "microphone" consists of two morphemes, of which "micro" is a root, and
"phone" is an affix.

24. ( ) Strictly speaking, the statement that the subject usually precedes the verb and the
direct object usually follows the verb is true in terms of both structural and logical
concepts.

25. ( ) In semantic analysis, predication, which is the abstraction of the meaning of a
sentence, can only apply to statements but not to imperative and interrogative
forms.

26. ( ) There are different kinds of antonyms because words opposite in meaning do not
contrast each other only on a single dimension.

27. ( ) Language change is one of the subjects of synchronic linguistics because it studies
problems connected with the characteristics of a language as it exists at one time, for
example, the Great Vowel Shift.

28. ( ) Some speakers of English are perfectly comfortable using the word anymore in
sentences such as the following: Tools are expensive anymore.
Other speakers of English can use anymore only if there is a negative element, such
as not, in the sentence: Tools are not cheap anymore.
This difference between speakers can be linked to a particular region of the country

or to a particular social class or ethnic group.

29.( )Broca’s area, Wernicke’s area and angular gyrus are all located in the left hemisphere of
the brain.
30.( JThere is no biological basis for humans to prefer one particular language over any other.

Our language faculty permits us to acquire any human language to which we are
exposed.

IV. Directions: Explain the following terms, using one or two examples for illustration.
(3% %x10=30%)

31. productivity
32. front vowel

33. articulatory phonetics
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35. selectional restrictions
36. commissives

37. acronym

38. standard language

39. social dialect

40. behaviorist learning theory

V. Answer the following questions. ( 10%x2=20% )

41. What type of movement is involved in the general question transformation in English? Work
out the deep-structure representation for the sentence "Will the shop owner hire her?"

42. Provide at least two evidences for the view that there is a critical period of language

acquisition.
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